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(Il #E)

BRI kT — I E B EIRE (Ba/L)
mmn | x| N [okE] mmE | s SS I HAPEE > & 5
No. JKIEi4 (m)

(m) (m) (%o) (mg/L) () Cs-134 Cs-137
1| FE U i S 3k SRR SR 2000m 3T /8 107 23H & 15.8 0.5 2.2 23 8 ° < <
T 14.8 29 13 6 <1 <1
o kit o S DRI 1 5 o S 28 oposp| = p0 |00 17 10 8 3 a a
T 1.0 18 10 6 <1 <1
3| FH R Hb 5 M BB )1 592000m s 3T /8 10H28H i 19.6 0.5 3.6 28 2 2 < <
T 18.6 30 4 4 <1 <1
4 59 1000m e 3T f’é 10 29H 2 7.9 2‘5 2.6 ;3 ; ; 2 il
ST T b S i i £ 0. 5 28 4 3 <1 <1

5 K H 9 1000m e 3T = 10H28H i 11.1 : 2.0
T 10.1 29 2 2 <1 <1
s . e 0.5 29 3 3 <1 el

6 INED 9 1000m A 3T 10428 i3 11.4 2.9
P EREIL000m T T S 10. 4 29 3 2 a a
7 FH 7)1 1HK92000m s 3T ?ﬁ;i 10 29H & 15.9 12.5 3.9 ;Z <? 1 il il
HTR X 5 e . = \ 1 <1 <1
8 REJI 7K 1000m et 3T = 10740 & 11.9 : 3.5 ! !
T 10.9 30 5 1 <1 <1
9 & ) 119 1000m {30 /8 10740 & 10.9 0.5 1.7 29 9 2 < <
T 9.9 30 12 3 <1 <1
10| HE LT Hb Se i dk AF NI 1000m e 3T /8 10H28H i 10.9 0.5 2.6 27 3 3 < <
T 9.9 29 19 13 <1 <1
117 R F ##91000m {3 & 1028 H & 11.8 0.5 2.6 28 1 2 < <
T 10.8 28 8 6 <1 <1
12| KA [ ##91000m {3 & 10 29H & 11.7 0.5 2.1 28 6 3 < <
T 10. 7 29 10 5 <1 <1
13|V o & T S B HN M9 1500m 3T /8 10 29H & 17.6 0.5 3.6 27 2 ! < <
T 16.6 29 13 6 <1 <1
14[/N 4 ek T4 B3z B 55 2 0 AE #9400 m A+ T /8 107 24H & 16.1 0.5 5.5 28 3 ! < <
T 15.1 29 3 2 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T /8 107 24H & 18.7 0.5 3.5 28 > 2 < <
T & 17.7 28 1 2 <1 <1
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R A ok —XIEH B % [Ba/kg (#2R) ]
o, o, BB | Rk | PR | mwEE B~ 7 A fii %
(cm) % Cs-134 | Cs-137 aEt

1| FE R e e SR IR P P9 2000m A 3T 10H23H = 15.8 10 74 b <10 <10 -
2|8 ) R 3 T SEME X8R X 15 R e aUT 10H23H = 2.0 10 77 b <10 <10 -
3| FE R Hh S b L)1 ##92000mf 3T 104 28H i 19.6 10 76 w 15 33 48
4 . B A 1000mf 3T 10A29H = 7.9 10 78 W <10 27 27
5 JRAT T e K H A9 1000m s 3T 10 28H i 11.1 10 75 b 11 36 47
6 /I ) A9 1000m s 3 10A28H i 11.4 10 75 Iz 22 42 64
7 . . 25511 #KI2000m A 3 10A29H = 15.9 10 5|0 - v b 73 170 243
8 FHRAX R REJI 9 1000mft T 10A4H = 11.9 10 73 W 170 360 530
9 = )1 K 1000mfs) T 10H4H = 10.9 10 71 b 190 420 610
10 [F BEMT H1 Sy I8k AN 1000mf 3T 107 28H i 10.9 10 77 W 78 200 278
11 [ VAR B s 1000mf 3 10A28H = 11.8 10 73 b 72 200 272
12 RAJHRT B 19 1000m {3 10H29H & 11.7 10 77 Iz 20 55 75
13|V i & T i S Vs B9 1500m 5 10H29H = 17.6 10 75 fib 15 42 57
14 (/N VEBA EE 55 2D ALI400m 43 104 24H = 16. 1 10 71 vk 120 260 380
15| F A T BRI 0% )19 1000m 5 10H24H 2 18.7 10 52 fib 60 140 200
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